
ASSEMBLY & INSTRUCTION MANUAL

IMPORTANT, RETAIN FOR FUTURE REFERENCE: READ CAREFULLY

INdhb073_GL

D30-381



BOX-1/2 BOX-1/2 BOX-2/2

NO. PARTS QTY NO. PARTS QTY NO. PARTS QTY

PACKING DETALS:TOTAL 2 BOXES

Hardware Kit

4

5

6

7

8

9

10

5

1

5

3

2

1

1

1

2

1

2

1

1

1

2

3

1

1

1

1

11

12

13

14

A

B

C

D

E

F

1

2

3



250 160

220

385

M8*15

M8*40 M8*80

M8*30

385

385

A  5 B  1

C  5 D  3 E  2

F  1 ①  1 ②  1

③  2 ④  1 ⑤  2

⑥  1 ⑦  1

⑨  2

⑧  1

⑩  3  1

 1  1  1

a 18 b  7

d  1 e  2 f  1



COMBINATIONS 1

DIFFERENT COMBINATIONS

01

OR

D

E

Ea

a a

a

a a a

aaa

D
D



02

03

D
one

A

a

b a

b

b

a

b

b
b

A

A

A C
C

C
C

a

a

a

b a

d

aA C

B

F

a

a

a
a

a

e

e

a



COMBINATIONS 2

02

01

D
one

b

d

a

e

a

b

b

b
b

a
a

a
a

e

A
C

F

CC
A

A




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7

